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Eight persons D, E, F, G, M, O, P and S purchase some products one after another but
not necessarily in the same order. At most two persons purchase before F. Only one-
person purchase between D and F. P purchase just before S. One-person purchase
between P and D. M purchase just before E. O purchase before G and after E.

TS SAFA D, E, F, G, M, O, P 3 S T & 91 T FS 3cUIE WA & afehel ST Tl
3 5ot FF & &) 310F A FI0F Y AfFa F ¥ Ted @iy Fxa &1 D 3R FF i
&hdel T Iiad GACRY FXdT gl P, S ¥ S gl @ISl FaTd | P3IR D F fia wen
w%rgﬂaﬁmh M, E & &1 gl USRI HTdT g1 0, G g IR EF a1
Tear gl
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Eight persons D, E,F, G, M, O,Pand S
purchase some products one after
another but not necessarily in the
same order. At most two persons
purchase before F. Only one-person
purchase between D and F. P purchase
just before S. One-person purchase
between P and D. M purchase just
before E. O purchase before G and
after E.
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How many persons purchase after D?
(a) None (b) Two (c) More than three (d) One (e)

None of these

Persons

Who among the following purchase just after G?
(a) E (b) F (c) O (d) P (e) None of these

If all the persons are arranged in alphabetical order from top to
bottom starting from D, then find how many persons remains at
the same position (excluding D)?

p (a) One (b) None (c) Two (d) Four (e) More than Four

o|lo|lo|=m|ml=

Who among the following purchase exactly between D and F?
(a) E (b) O (c) M (d) S (e) None of these

How many persons purchase between E and P?
(a) Five (b) Four (c) Three (d) None (e) Two
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Mohit Bhagat 22 hours ago

Thankyou madam for this class Session.. J\, @
And

My solutions for today's Homework is like-

8. M.

Read more

s ' REPLY

+ View reply from Mahendras : Online Video

Simpal Kumari 14 hours ago
Homework ans

(1) E (Three)

(2) D(P)

(3) D (four) ..

Read more

s ® REPLY

-~ View reply from Mahendras : Online Video

sarita rawat 21 hours ago

Homewaork answer
MEFODGPS

1.E

2.0

Read more
s ¥ REPLY

+ View reply from Mahendras : Online Video

9

Nidhi Tiwari 22 hours ago
MEFODGPS thank you mamYeeYYe@ @ @ § &

s ® REPLY

+ View reply from Mahendras : Online Videos For (

Juthika Das 22 hours ago
Ansis==MEFODGPS
Q1-Option-E
Q2-Option-D
Q3--Option-D.

Read more
i 9

~ View reply from Mahendras : Online Videos For (

REPLY

sarita rawat 21 hours ago

Very good afternoon mam J A JA 2 A A

s § REPLY

-~ View 3 replies from Mahendras : Online Videos F

Archana Pal 18 hours ago

8. M. Option (C)
7. E Option (D)
6. F Option (D)
5 0. Option (B)..
Read more

s ®' REPLY

+ View reply from Mahendras : Online Videos For (

A

A

lomesh Rastogi 22 hours ago

Homework Answer is
MEFODGPS
1- option E (three)

2- option D (P)..
Read more

s ®'  REPLY

* View reply from Mahendras :

Jiten chouhan 11 hours ago (edited)
Thanks mam

s § REPLY

Rityaj Seth 22 hours ago
HOMEWORK ANSWERS

M,EFOD,GFS
Option=E,D,D.B.B

s &' REPLY

Soma Das 20 hours ago

MEFODGPS
1..three
2..P

3... four..

Read more
ik W

- View reply from Mahendras

REPLY

Nidhi Tiwari 22 hours ago

Hw ans

EDDEBB
b 8§ REPLY

~ View reply from Mahendras

-+ View reply from Mahendras : Online Videos For

Jiten chouhan 11 hours ago

M
E
F
0.

Read more

@ ®' REPLY
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How many pairs of letters are there in the word “CHRISTMAS” which has as many
letters between them as we have in the English alphabetical series (from both
forward and backward direction)?

Qreg “CHRISTMAS” & 318 & U fhda g & s g 3« & 7eR &
forast gAR I 33T quiATeT HEdr (3 3 O =T femsit &) # %’?

(a) Three (b) One (c) Two (d) None (e) More than three

it
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39181258636425285264514947327259

How many 2’s is there in the above arrangement, each of which is immediately
preceded by a digit which has a numerical value of more than 5?

3YNFd cHaTAT #H fhda 2 &, OaH O 9@ & S+ Ugd & 3 ¢ Sgar
HEATcA® AR 5 @ s 72

(a) None (b) One (c) Two (d) Three (e) More than three

it
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39181258636425285264514947327259

Which of the following number is seventh to the left of the twentieth from the
left end of the above arrangement?

Arafef@d & @ sl @ T&IT 3RFT IITEAT & 90 8 A 99 &
a0 ¥ A TIT 9 87

(a)3(b)9(c)2(d)7(e)1

it
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If all the even digits are removed from the above arrangements then, which of
the following digit will be tenth from the right end of the arrangement?

Ife 3UNFd caaTUT ¥ Y 9 31T &+ ger fear Jar g, ab
frfaf@d & q ST AT 3(F TTEAT F T DR T T4l gH?

(@9 (b)5 (c)1 (d)3 (e)7

it
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How many such 1’s is there in the above arrangement, each of which is
immediately followed by a perfect square?

;ﬂé_ﬁwmﬁ@ﬁmﬁ1%,ﬁaﬁﬁmﬂ;mquﬁ
?

(a) None (b) One (c) Two (d) Three (e) More than three

it


http://www.mahendras.org/

mc=tL 01 0 B oR vORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /
Arfaf@d S &1 i—'ﬂﬁ"]\ﬂ? HETTA Y Study the following information carefully and answer
IR A T 31T gt & 3aT & IR AeT Y the questions given below. Twelve people are sitting

AR YTFaar 7 &6 § a8 9@+ gfa &
SealTgl 9T 1#-B,C,D,E FIRGASE
INFA TN FAG S A ARG AR aFT2 A
-Q,R,S, T,UIR VIS T IR sawefr Fr A
gfaror Y T § AfFT s A s FA A
gY1 &1 7S HaEYT A, UTdhd A 988 A Ted &l
7@ q@{l UfFd & 3T g HT AR & D Ufd
& fordl e AfaA BR T daT8 | B 3 D & A
gl safad 33 81 98 sfad [ a1 7@ B A1 30T
dag Q& T A gy T W AT § 6, v FarE
M TIHRVEFITAAFTISEIR, UFSE
IR fFd v TATT W ST § 1 ST U Y 31X
3-HE g, TEEF T T AW TAHT T ASTR | F
fraY T T 9T o1 ¥ W FT IRER

in two parallel rows containing six people in each
row. Inrow 1-B,C, D, E, Fand G are sitting and all of
them are facing northandinrow2-Q,R,S, T, U and
V are sitting and all of them are facing south but not
necessarily in the same order. In the given
arrangement, each member seated in the row faces
another member of the other row. D sits at one of
the extreme ends of the row. Two people sit
between B and D. The one who faces B sits second to
the left of Q. Three people sit between Q and S. The
one who faces S sits to the immediate right of G. As
many people sit to the left of G as to the left of V.
Two people sit between T and V. R sits at one of the
positions to the right of U. The one who faces U sits
third to the right of E. F sits at one of the positions to
the right of C.
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Study the following information carefully and answer
the questions given below. Twelve people are sitting
in two parallel rows containing six people in each
row. Inrow 1-B,C, D, E, Fand G are sitting and all of
them are facing northandinrow2-Q,R,S, T, U and
V are sitting and all of them are facing south but not
necessarily in the same order. In the given
arrangement, each member seated in the row faces
another member of the other row. D sits at one of
the extreme ends of the row. Two people sit
between B and D. The one who faces B sits second to
the left of Q. Three people sit between Q and S. The
one who faces S sits to the immediate right of G. As
many people sit to the left of G as to the left of V.
Two people sit between T and V. R sits at one of the
positions to the right of U. The one who faces U sits
third to the right of E. F sits at one of the positions to
the right of C.
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T Who sits fourth to the left of F?
A.G B.C C.B D. E E.D

Q R V
—+—

1T C
wn

How many people sit between S and R?
A. One B. Two C. Three D. Four E. None

ST R
F C B G F D Who faces C?
A.R B.Q C.V D. U E.S

Which of the following statements is true?
A. Three people sit between Band D

B. V sits opposite to G

C. T and E sit at the extreme ends of the row
D. R and U are immediate neighbours

E. None of the above

Four of the following five are alike in a certain way,
find the odd one out. A.QB.TC.DD.EE.R
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How many such pairs of letters are there in the word ‘DECLARING’ each of which has as
many letters between them in the word as in the English alphabet (both forward and

backward)?

Tec 'DECLARING' # 3MaRY & W fhae oA &, Oad ¥ 9@« & g 3da & 38R
¥ g fF 3ieh autArer (3mr 3k S @) & §2

A. One B. Two C. Three D. None
E. More than three

it
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Statements:

All ladders are stairs.

Only a few stairs are ways.

All ways are elevators.
Conclusions:

I. No elevators are ladders.

II. Some ladders are elevators.

A. If only conclusion I follows

B. If only conclusion II follows

C. If either conclusion I or II follows
D. If neither conclusion I nor II follows
E. If both conclusions I and II follow

it
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73.Statements:

A few computers are type-writers.
Only a few type-writers are laptops.
Conclusions:

I. All laptops being type-writers is a
possibility.

II. All computers being laptop is a
possibility.

A. If only conclusion I follows

B. If only conclusion II follows

C. If either conclusion I or II follows

D. If neither conclusion I nor II follows
E. If both conclusions I and II follow

40
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74 .Statements:

Few trucks are papers.

All papers are magazines.
Conclusions:

I. Some trucks are definitely not
magazines.

II. Some magazines are trucks.

A. If only conclusion I follows

B. If only conclusion II follows

C. If either conclusion I or II follows
D. If neither conclusion I nor II follows
E. If both conclusions I and II follow

it
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Point B is 10m to the West of point A. Point Cis 15m to the South of point B. Point D is
15m to the North of point A. Point E is 15m to the East of point D. Point C is 15m to the
West of point F. Point G is 10m to the East of point C. Point H is 15m to the North of point

F. Point R is 3m to the East of point E. BﬁgAﬂ?tIﬁﬂﬂ'ﬁ'1OFﬁT{'%l fog ¢, fag B & aftror &
15 #ex 81 g D ﬁgAa;m#wmu%l ﬁgDﬂ?ﬁﬁwIﬁﬂ%lﬁg B$15==na

ag%lﬁgpa:trﬁaw:ﬁrﬁg ﬁgc#q&:ﬁrm | fRig H, Rig F& 3T & 15 #ex 81 Rig R, Rig E

# 3 #Aex B
What is the distance and direction of point H with respect
to F?
A. 15 m to the South B. 10 m to the North
C. 15 m to the North D. 10 m to the South

E. None of These

What is the direction of G with respect to R?
A. North East B. North

C. South D. South East

E. South West
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D 15m £ 3m R . . . .
: Which of the following do not represent straight line?
S A.CGF B.GAD C.BAH D.FHE E.DER
8 10m | H
Find the odd one out.
15m 15m A.RF B.DC C.DR D.RB E.EA
¢ 10m & sm F Which of the following statements is true?

A. Point D is to the South of point A
B. Point H is to the East of point B

C. Point H and G lie on the same line
D. Point F is to the West of point G
E. None of these

Four of the following five are alike in some way, find the
odd one out.
A. SNM B. HCB C. RML D. WTS E. PKJ
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Statements:

S>2T=A<N<D

Conclusions:

I.D>T

II. S <N

A. Only conclusion I is true

B. Only conclusion II is true

C. Either conclusion I or conclusion II is
true

D. Neither conclusion I nor conclusion II
is true

E. Both conclusion I and II are true

82.Statements:
B<R<K=A;T<R
Conclusions:

I. T < K

II. A>B

A. Only conclusion I is true

B. Only conclusion II is true

C. Either conclusion I or conclusion II is
true

D. Neither conclusion I nor conclusion II
IS true

E. Both conclusion I and II are true

ImB

a
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e <afFd A, B, C, D, P, Q, R3S 315 Eight People A, B, C, D, P,Q, Rand S
3 eldl- mnﬁa’rmﬁam AT, born in eight different months

31'&3[ II%' olol, 3TIME, mﬁkm namely, January, March, April, May,
ﬁﬂﬂﬂ%ﬁ%ﬂﬂﬁ%ﬁﬁﬁ June, August, October and December
6’“ A WﬂW?WH’EﬂﬁWE’N but not necessarily in the same order.
g7 A 3T B ?aﬁ'ﬂ'mﬂﬂ'mﬁﬂgﬂ'l A was born in a month after August.
B3ilXC ?aﬁ'ﬂ'ﬁa‘rgﬂ'miﬁml A°3ﬁT Only four people born between A and
C ?ﬁﬂﬂﬂ%‘@ﬁaﬁm, c3ikRp® B. Only two people born between B
a"lirﬂargtraﬁ%'ﬁaﬁrma;m%l Pl | and C. The number of people born
mﬁﬁwﬁwnﬁﬁﬁgm q7| D. P between A and C is the same as the
3k Q ?aﬁﬂmﬁmﬁm g3TI R number of people born between C
WWS@'WWQ?WB’I&%&TI and D. P was born in one of the

> months before D. Only two people
born between P and Q. R was born
before S but after Q.
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Eight People A,B,C,D,P,Q,Rand S
born in eight different months
namely, January, March, April, May,
June, August, October and December
but not necessarily in the same order.
A was born in a month after August.
Only four people born between A and
B. Only two people born between B
and C. The number of people born
between A and C is the same as the
number of people born between C
and D. P was born in one of the
months before D. Only two people
born between P and Q. R was born
before S but after Q.
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Months | People | c was born in which of the following months?
A. June B. April C. December D. March E. August

January P

March B Who was born in the month of May?
A.SB.DC.QD.BE.R

April D

M The number of people born before R as after _.

ay Q A.CB.DC.BD.QE.S
June C Which of the following statements is true?
Auqust o A. B was born in the month of April
g B. Only three people born between S and Q

October A C. B was born i.n the n.10nth of January
D. R was born immediately before D

December | S E. None of the above
If P is related to D, B is related to Q, in the same way Cis
related to which of the following?
A.AB.RC.BD.SE.P
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-
TIT-37I9T Ioled & YT SIFH A, B, C, D Five boxes A, B, C, D and E of different
INERFIWRAATTF TR IFTH weights are arranged in a row from top to
aaaﬁa?rﬁmm%l 9iFH A HT Il bottom. The weight of Box A is more than
99 B *m@'m%ﬁﬁﬁm the weight of Box B but Box A is lighter
A, 99 C @'W%I CICT: ) D, qFgCH than Box C. Box D is lighter than Box C but
W%ﬁﬁﬁ'mmﬁﬁ%l f3sar C not the lightest. Box C is not the heaviest
347 G g9 ﬂﬁﬂﬁ%l dFTAY among them. As many boxes are heavier
IEGLEIER:] m%mﬁaﬁﬂ'iﬁw C than Box A as the number of boxes lighter
@'GW%I WWWE\WWW than Box C. The weight of the second
15 fFeaA & lightest box is 15 kg
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Five boxes A, B, C, D and E of different
weights are arranged in a row from top to
bottom. The weight of Box A is more than
the weight of Box B but Box A is lighter
than Box C. Box D is lighter than Box C but
not the lightest. Box C is not the heaviest
among them. As many boxes are heavier
than Box A as the number of boxes lighter
than Box C. The weight of the second
lightest box is 15 kg
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Box | Weight

e et Who among the following is the third lightest?
- A.E B.C C.B D.A ED
C

If the weight of the Box C is 18kg, then what can
D be the weight of Box D?
A. 16kg B. 10kg C. 20kg D. 12kg E. 22kg

A | 15kg

How many boxes are lighter than Box E?
A.4 B.2 C.3 D.None E.1

Ei
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Six people A, B, C, D, E, and F are sitting around a circular table facing outside. C is not
sitting second to the left of F. E sits third to the right of A. B sits third to the right of F. C
and A are not neighbors. B and A are neighbors.

B¢ 4fFd A, B,C, D, E3N FUH JaFR A & IRI AN dET A IR G F+
43 81 C,FF 9 ¥ qEY T 9T @l 4T 81 E,ASF g & Y ¥ 9¢ da1
gl B,FF g ¥ Y TUE qX o371 g1 C 3R A gkt s1gt &1 B 3ix A 9=t &
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B Who is sitting immediate right of F? '
—F A.B B.E C.A D.D E.Can’tbe
o \ /‘,_\\A determined
| :! Who is sitting third to the right of C?
\- gy A.A B.F C.E D.D E.Noneofthese
E ’ D
—— Who is sitting opposite to E?
J A.F B.A C.D D.B E.None ofthese

Who among the following are sitting opposite to
each other?
A.F,C B.C,AC.E,D D.F, B E. None of these

Find the odd one from the following.
A.B,DB.C,F CCA ED.FAE.AC
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‘training is always necessary’ is written as ‘god asb byo mnp’,
‘teacher perception always right’ is written as 'mnp den coh
hen', 'teacher can stop training’ is written as ‘byo coh vyo rho’

‘stop bad perception necessary’ is written as ‘den puk asb vyo’.

What is the code used for ‘right’?

A. mnp B. hen C. den D. coh
E. None of these

‘Puk’ is the code used for which of the following?

A. stop B. perception C. bad D. necessary E.
None of these
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‘hen god puk’ would mean?
A. is right training B. bad is right C. training is bad
D. training right bad E. None of these

‘teacher is always linguist’ would be written as
A. god coh pa mnp

B. byo asb mnp coh
C. mnp god coh vyo
D. god vyo den asb

E. None of these

Which word is represented by ‘byo’?
A. necessary B. stop
C. Training D. perception E. None of these



http://www.mahendras.org/



http://www.mahendras.org/

